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Jo0d0ododododododA.DECLAREerec
emp%ROWTYPE.BEGINSELECT * INTO erec FROM emp
WHERE empno=acute.EmpNoacute. acute.Enameacute.
acute.Jobacute. acute.Manageracute. acute.HireDateacute.
acute.Salaryacute. acute. Commisionacute. acute.DeptNoacute.
acute. acute. acute. acute. acute. amp.[] [ [

[1.DBMS _OUTPUT.PUT_LINE(eename || acute.acute. ||
esal).END./Q.L0 O O 0O O O O O O Deptno Raise(%age)10 5%20
10%3015%4020%0 0 0 0 00000000 ooooouo
OO0O0OPL/SQLU OO OO OO OO A.DECLAREvcounter
NUMBER:=10.vraise NUMBER.BEGINLOOPEXIT WHEN
vcounter>40.UPDATE emp set sal=NVL(sal,0) NVL(sal,0)*0.05
WHERE deptno=vcounter.vcounter:=vcounter 10.END
LOOP.END./Q.U O OPL/SQLO O"emp"L O 1000 0O OO
Jodododououououooooroeocdououo
1 00 079010 791000 A.DECLAREvcounter
NUMBER.BEGINSELECT MAX(empno) INTO vcounter FROM
emp.FOR 1IN 1..10LOOPvcounter:=vcounter 1.INSERT INTO
emp(empno) VALUES(vcounter).END LOOP.END./Q.00 OO O O
JO000000000040 ADECLAREerec
emp%ROWTYPE.-- vraise NUMBER.BEGINSELECT * INTO
erecFROM empWHERE



ename=amp.enameacute. CLERKacute.SALESMANacute. ANALYS
Tamp.num.num2;=acute./acute. is acute.Didnacute.t your teacher
tell you not to DIVIDE BY ZERO?&acute.).END./ 100Test [1 [J [
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